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1. The solution of V6 lies between

(i) 2and 3 (ii) 0and 1 (iii) 4and5 (iv) 1and2 (v) 3and4

2. The solution of v10 lies between

(i) 2.9 and 3.0 (ii) 3.1 and 3.2 (iii) 3.3 and 3.4 (iv) 3.2 and 3.3 (v) 3.0and 3.1

3. The solution of v8 lies between

(i) 2.83 and 2.84 (ii) 2.84 and 2.85 (iii) 2.80 and 2.81 (iv) 2.82 and 2.83 (v) 2.81 and 2.82

4. The solution of v14 lies between

(i) 3.742 and 3.743 (ii) 3.739 and 3.740 (iii) 3.743 and 3.744 (iv) 3.741 and 3.742 (v) 3.740 and 3.741

5. The solution of v3 lies between

(i) 1.7320 and 1.7321 (ii) 1.7319 and 1.7320 (iii) 1.7321 and 1.7322 (iv) 1.7318 and 1.7319
(v) 1.7322 and 1.7323

6. The decimal number 99.5 lies between

(i) {98,99} (i) {97,98} (iii) {99,100} (iv) {101,102} (v) {100,101}

7. The decimal number 461.80 lies between

(i) {462,463} (ii) {461,462} (iii) {460,461} (iv) {459,460} (v) {463,464}

8. The decimal number 201.876 lies between

(i) {199,200} (ii) {203,204} (iii) {201,202} (iv) {202,203} (v) {200,201}

9. The decimal number -95.9 lies between

(i) {-94,-93} (ii) {-97,-96} (iii) {-96,-95} (iv) {-98,-97} (v) {-95,-94}

10. The decimal number 0.606 lies between

(i) {-1,0} (i) {1,2} (i) {2,3} (iv) {0,1} (v) {-2,-1}

11. The decimal number 1.223 lies between

(i) {0,1} (i) {3,4} (i) {2,3} (iv) {-1,0} (v) {1,2}

12. The decimal number 0.117 lies between

(i {o,1} (i) {2,3} (i) {1,2} (iv) {-1,0} (v) {-2,-1}
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The decimal number 9.69 lies between

(i) {9.49,9.59} (ii) {9.67,9.68} (iii)) {9.70,9.71} (iv) {9.79,9.89} (v) {9.59,9.79}

The decimal number 2.004 lies between

(i) {2.005,2.006} (ii) {2.002,2.003} (iii)) {1.984,1.994} (iv) {2.014,2.024} (v) {1.994,2.014}

The decimal number -6.062 lies between

(i) {-6.064,-6.063} (ii) {-6.082,-6.072} (iii) {-6.072,-6.052} (iv) {-6.061,-6.060} (v)

The decimal number 1.0071 lies between

(i) {1.0072,1.0073} (ii) {1.0061,1.0081} (iii) {1.0051,1.0061} (iv) {1.0081,1.0091}

(v) {1.0069,1.0070}

The decimal number -8.0092 lies between

(i) {-8.0112,-8.0102} (ii) {-8.0094,-8.0093} (iii) {-8.0091,-8.0090} (iv) {-8.0082,-8.0072}

(v) {-8.0102,-8.0082}

Which of the following decimal numbers lie between7588and 75897
(i) 75887.8 (ii) 758.9 (iii)) 7589.8 (iv) 7588.8 (v) 7587.4

Which of the following decimal numbers lie between3241.4and3241.57?
(i) 32414.33 (ii) 3241.43 (iii) 3241.54 (iv) 324.14 (v) 3241.37

Which of the following decimal numbers lie between1054.73and 1054.747
(i) 1054.721 (ii) 1054.749 (iii)) 1054.736 (iv) 10547.362 (v) 105.474

Which of the following decimal numbers lie between430.317and430.3187
(i) 430.3183 (ii) 4303.177 (iii) 430.3165 (iv) 43.0318 (v) 430.3177

Which of the following decimal numbers lie between9833.7959and 9833.79607
(i) 98337.95933 (ii) 9833.79583 (iii) 983.37959 (iv) 9833.79593 (v) 9833.79607

{-6.052,-6.042}
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